Question Paper Preview

Notations :
1.Options shown in green color and with % icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Question Paper Name : Paper I Telugu 27th Jun 2025 Shift 2

Subject Name : Paper I Telugu

Duration : 150

Total Marks : 150

Display Marks: Yes

Share Answer Key With Delivery Engine : Yes

Actual Answer Key : Yes

Change Font Color : No

Change Background Color : No

Change Theme : No

Help Button : No

Show Reports : No

Show Progress Bar : No
Paper I Telugu

Group Number : 1

Group Id : 47718727

Group Maximum Duration : 0

Group Minimum Duration : 150

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 150

Child Development and Pedagogy

Section Id : 477187131
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187207

Question Shuffling Allowed : Yes



Question Number : 1 Question Id : 4771873977 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Due to lack of which among the following in rural and remote areas learning
putcomes are affected
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) Transport facilities
Sarese TS0 en
B) Technology
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C) Parental care
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Choose the correct answer
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Question Number : 2 Question Id : 4771873978 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Appropriate testing tools for recapitulation are used during this phase of teaching
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Question Number : 3 Question Id : 4771873979 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Wikipedia’, a free. online encvclopedia 1= a good example for this type of
learning where many people are involved together in knowledge creation and
problem solving
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Observational learning
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Question Number : 4 Question Id : 4771873980 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This section of the Rights of Persons with Disabilities (RPwD) Act, 2016 deals
with protection of persons with disabilities from abuse, violence and exploitation
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Question Number : 5 Question Id : 4771873981 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following 1s NOT recommended in the National Curriculum
Frameworlk, 2005
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Options :
Reducing the curriculum load bazed on insights provided in ‘Learning
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Strengthening a national system of education in a pluralistic society
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Providing education based on the financial status of the child
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Providing quality education for all children
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Question Number : 6 Question Id : 4771873982 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher who displays one of the following behaviours cannot bring about

expected learning in students

Options :
Determination
S
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Hedord
3. % i
Diseciplinarian

BindSsmtd
4. - B



Question Number : 7 Question Id : 4771873983 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In Protection of Children from Sexual Offences (POCSO) Act, 2012, the

punishment given under Section 12 for any person who commits sexual
harassment as given under Section 11 of the Act is imprisonment for these
many vears and shall also be hiable to fine
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Question Number : 8 Question Id : 4771873984 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher assigning a research project to her students to find solution to a local

problem along with a local agency reflects using of this as a learning resource

!
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Question Number : 9 Question Id : 4771873985 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rushika has completed her engineering and is trying to get a job in her area of
specialization but could not. She was feeling frustrated and decided to seek help.
The tvpe of guidance Rushika needs to get acquainted about the growing trend
in employment market and job opportunities is
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Question Number : 10 Question Id : 4771873986 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two girls who went to a new place entered into a restaurant for having dinner.
After entering. seeing the atmosphere inside sensed some kind of insecurity and
came out immediately. This 1s an example of
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Intuitive thinking
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Question Number : 11 Question Id : 4771873987 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following statements and identify the correct answer
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A)  According to the Principle of Proximo Distal Tendency. development
proceeds from centre to periphery
5805 tr8e) dr@o (H5°00, ASPR0 Solfo Mol grrred BEarhdod
B) A child at first sits with support and then stands and walks
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Options :
Both A and B are true and B is an example of A
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Both A and B are true and B iz not an example of A
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Question Number : 12 Question Id : 4771873988 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following processes that influence growth and development. except

one all other can be controlled
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Options :
Motivation
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Question Number : 13 Question Id : 4771873989 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Varsha. a normal infant who was only recognizing her mother. now started
recognizing and smiling at other family members staying with her. Based on
this social development. the age of Varsha will be about
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Question Number : 14 Question Id : 4771873990 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The age at which an individual is expected to perform certain developmental
tasks 1s termed as
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Chronological age
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Question Number : 15 Question Id : 4771873991 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Encouraging positive behaviour in a 4 vear old child will result in developing a
sense of this according to Erikson’s Psycho- Social Development theory
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Question Number : 16 Question Id : 4771873992 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the example among the following that relates to pre-conceptual phase
of cc-gnitive development of Piaget
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Options :

A child preparing a model showing eco friendly disposal of waste
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A child telling his teacher my favourite color 1s pink but my sister’s 1s
vellow
8 DRl 5 8RS Sord Herd Sofh 2R FRBE sddS Sold B35 ol
B e Deodarytd
2. ®
A two year boy calling a dog on the road by his pet dog’s name
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A child who can understand that in spite of difference in shapes capacity of

two glasses can be same
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Question Number : 17 Question Id : 4771873993 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem solving behaviour occurs when solution is not obtainable by
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Question Number : 18 Question Id : 4771873994 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Kowmudi asked her parents for permission to go for trekking along with friends.
They said. "vou can go but on condition that vou will be responsible, you can
enjov but don't do anything that causes trouble to you or others’. Child rearing
practice of Kowmudi's parents
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Question Number : 19 Question Id : 4771873995 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Chitra’s teacher did not give her marks for assignment as she has not submitted
1t. After coming home she told her mother because her father didn't drop her at
bus stop she forgot the book in a hurry as she had to walk to the bus stop. The

defense mechaniam used by Chitra here 13
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Rationalisation
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Question Number : 20 Question Id : 4771873996 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Kajal wanted to study the social development of VII grade students. She
selected a school and took reports of related events that occurred in the life of
few children from parents, teachers. peers. etc. The reports collected by Kaajal
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Question Number : 21 Question Id : 4771873997 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Learning goals are set. when there is demand for satisfaction of
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Question Number : 22 Question Id : 4771873998 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify among the following examples relating to learner’s physical or mental
health that influence learning
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A) A child who is emotionally disturbed because of separation from mother
89 Dol DEPSEo o eByrESorr Sod BodS Heardd
B) A child who met with an accident and got injured
Ee o 28R Mrabilsd hesrtd
C) A child suffering from common cold
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D) A child suffering from chronic disease
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Question Number : 23 Question Id : 4771873999 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Shravan has put his two year old daughter in the swimming pool in a tube. His
daughter got frightened and cried a lot. He removed her from the pool and could
not make her get into the swimming pool for many vears after that. This can be
explained by this law of learning of Thorndike
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Law of readiness
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Question Number : 24 Question Id : 4771874000 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Yaadav went to a new place where the local food 1= different from the food that
they eat in their home. He did not like the taste of the first local food item that
he ate and did not want to taste any other local food item as he developed an
aversion to such food items. The aversion for food items in this example as
explained by the phenomenon of stimulus generalization of classical

conditioning theory is
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Question Number : 25 Question Id : 4771874001 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Yuvika hails from a very conservative family. To teach her daughter to respect
elders she mitially motivated her daughter to greet elders and then reinforcing
step by step could make her daughter attend to the needs of elders in their
family. The process of building behaviour as in this example according to
Skinner 1s
A0S PP HoETPAREE Bénoerds SobNs. 813 DrdH BPo Todosto Bleyetil=
e Sndt] DO HTE ST HuEBoBEEIS 85 HrdD mOnodod, #thard
S 0”356-5;@‘&'@ ZchEo ‘ég;._- G 835 5P 78 LHenomostd G,C‘ﬂ S TSTa LTSN

c‘\_‘:‘g ,;grj.;} & ﬁﬁ""&i—ndﬁﬁlﬁ:‘ arHBIM |-:I\_-E5"ljéln_ﬂ Eital C"B: [a.n.%d:a

AR
Options :
Shaping
Eﬂ“éaéé-ﬁm

1. ¢

Chaining

Eﬂcn
Cueing
grromoh
3. ®
Diserimination

A



Question Number : 26 Question Id : 4771874002 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the examples given below identify those that indicate the knowledge of ‘Zone

of Proximal Development’ put forth by Vygotsky
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A) Ramani does not want her daughter to fail in any task and always gives
tasks on par with or below her age level irrespective of her daughter
getting bored of those activities
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B) Ragini wants her daughter to aim high and always gives very difficult

tasks many of which she cannot do and gets frustrated
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C]I Rajini wants her daughter to be familiar with tasks that will be

mtroduced a little later and helps her in doing such tasks to learn more
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Choosze the correct answer
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Question Number : 27 Question Id : 4771874003 Question Type : MCQ Option Shuffling :
Question Number : Yes

Correct Marks : 1 Wrong Marks :

A teacher has given an assignment to her students to write about wa
dealing with mosquito menace. The domain of learning involved in

asslgnment 1s

2y [

Lo 3 e _\,—.—5 .-.-I_{, Fo PR o, i T e . 2 E
55 BESH der AtHB e ordlshd a8 aare-dintren 85 &-m~qaé 2.5 890

= o = E=. . o o e L -
Bl ob. 8w '\,‘\'T}E?L.'C"E—Eéd 'Ev.c.:l.l& ﬁac“_ @:‘Iﬁ_‘m@ Soho

(4

Options :
Psvcho motor

-

sIPHNE Seomed s

b

1. %
Cognitive
H0sPTRHE S
= =
2.
Affective

(\.

::
s
3 % EFPolRolT

Conative

. :
HSeord 8

Yes Display

vs of

this

o5



Question Number : 28 Question Id : 4771874004 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Chandrika and her friends went to a party. A man was repeatedly coming to
them and disturbing them. They asked him ‘why are vou disturbing us?” The
‘why' here denotes the person’'s
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Question Number : 29 Question Id : 4771874005 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 4771874006 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Building generalizations between different learning situations helps in
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Language I Telugu

Section Id : 477187132
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section 1Id : 477187208

Question Shuffling Allowed : Yes



Question Id : 4771874007 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Sub questions

Question Number : 31 Question Id : 4771874008 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 4771874009 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 4771874010 Question Type

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 4771874011 Question Type

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 477187209
Question Shuffling Allowed : Yes



Question Id : 4771874012 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Sub questions

Question Number : 35 Question Id : 4771874013 Question Type :

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 4771874014 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display
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Question Number : 37 Question Id : 4771874015 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 4771874016 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 477187210
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 4771874017 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 4771874019 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 4771874020 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 4771874021 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 4771874022 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 4771874023 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 4771874024 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 4771874025 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 4771874026 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 4771874027 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 4771874028 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 4771874029 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 4771874030 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display

Question Number : 53 Question Id : 4771874031 Question Type

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
03 FiSden J5BD?

=5

o

il

SO L s A
&53 0 w0, deno

o

Options :
TbmoE e

1. ®
T . X
ENTRREN N
2. W ch.
E B
“ e3P EPollla)
3.
s P o B
&.58 ,-:_.;?':-_IJ?‘C' loviilats!

Question Number : 54 Question Id : 4771874032 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks :
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Question Number : 55 Question Id : 4771874033 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 4771874034 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 4771874035 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 4771874036 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :
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Question Number : 59 Question Id : 4771874037 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 4771874038 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
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Sub-Section Number : 1
Sub-Section Id : 477187211
Question Shuffling Allowed : Yes



Question Id : 4771874039 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65)Read the following passage and choose the correct option for each
question.

Teaching has always been a human activity, not just because it requires
humans to perform it, but also because it 1s one of our most personal relationships,
second only to those with family. The ideal teacher-student bond 1s built on trust,
mutual respect, and even inspiration. This relationship has the power to change
one's perspective on the world and create a connection that links the past, present,
and future. These qualities are most evident in the early years, when young
children form connections with adults outside their families.

Great teachers not only have a deep understanding of their subjects, but they
also care for and understand their students, noticing when they're happy, sad,
struggling, or thriving. They shape our views on school and learning, offering a
safe heaven from chaotic home lives or serving as a gateway to the broader world.

As students grow older, however, the teacher-student relationship becomes
more complicated. In high school, teachers may seem overbearing, standing in the
way of good grades or appearing arbitrary. These dynamics often mirror students’
interactions with their own parents as they nawvigate the challenges of
approaching adulthood. Despite this, the emotional connections formed in earlier
stages continue to persist.

Sub questions

Question Number : 61 Question Id : 4771874040 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This is NOT a part of the ideal teacher-student relationship.

Options :
It changes one’s perspective on the world.
1. %
It creates a connection that links the past. present, and future.
2. ®
. It is built on trust. mutual respect. and even inspiration.
3.

It diminishes self-esteem and self-confidence of the teacher and

4 student.



Question Number : 62 Question Id : 4771874041 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The word ‘persist’ means

Options :

reserve.
1.¢ P

1ve up.
2. % 5 P

surrender.

1zo0lated.

Question Number : 63 Question Id : 4771874042 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage, at this level. the teacher-student relationship becomes more
complicated.
Options :

Primary school
1. ®

Pre-primary achool

Before joining the school

High school
4.

Question Number : 64 Question Id : 4771874043 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage. the great teachers

Options :



simply follow a curriculum.

1. ®
ignore what children are doing.
2. %
shape children’s understanding and experience of school and learning.
3.¢
assesses students through tests and assignments.
4. %

Question Number : 65 Question Id : 4771874044 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

At high school. teachers may seem overbearing.
Here the word “overbearing” suggests
Options :

Teachers are friendly and helpful.

1. %
Teachers are making it hard for students through their domination.
2.
Teachers are easy going and accepting students.
3. ®
Teachers allow students to make all decisions.
4. %
Sub-Section Number : 2
Sub-Section Id : 477187212

Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771874045 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The noise in the kitchen me up.
Choose the correct option to complete the sentence.
Options :
awake

1. ®

wole
2.

woled

awopke

Question Number : 67 Question Id : 4771874046 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Televisions ___ computers ___ dominating our daily life.
Choose the correct option to complete the sentence.

Options :

O, wWas
1. ®

and, are

and, is
3. ®

50, dAre
4. %



Question Number : 68 Question Id : 4771874047 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

Neither the seller nor the buyer are for favour  of the system.
A B C D
Options :
A
1. ®
B
2. %
C
3. ¢
D
4. %

Question Number : 69 Question Id : 4771874048 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
We have to go to London by airplane. We cannot go there any other way.
Combine the two sentences.
Options :
We have to go to London by airplane because we cannot go there any other
way.

1.

We cannot go there any other way because we have to go to London by

- airplane.
We have to go to London by airplane though we cannot go there any other
way.

3. %

Airplane 1s the only way to go to London because we can go there in any

other way.



Question Number : 70 Question Id : 4771874049 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Australians were expected to win the cricket world cup.
Change the sentence into active voice.

Options :

People expected the Australians to win the cricket world cup.
1. ¢

The cricket world cup 18 expected to be win by the Australians.

2. ®

It was expected that the Australians will win the cricket world cup.
3. %

It is expected that the Australians would won the cricket world cup.
4. %

Question Number : 71 Question Id : 4771874050 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He said. “I have completed the work just now.”
Change the sentence into indirect speech.
Options :

He said that I have completed the work just then.

1. %

He said that he had completed the work just then.
2. %

He said that he had completed the work just now.
3. %

He told that he has been completing the work just then.
4. %



Question Number : 72 Question Id : 4771874051 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
They offered me money if I would betray my associates.

Identify the meaning of the word ‘betray’.

Options :

defend
1. #

save

deceive
3.¢¥

loyal
4. %

Question Number : 73 Question Id : 4771874052 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The police are very reluctant to get involved in this sort of thing.
Choose the opposite meaning of the word ‘reluctant’.
Options :
hesitant

1. ®

cautious

3 % vigilant

wilhn
4 B



Question Number : 74 Question Id : 4771874053 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A person who sacrifices their life for a cause 1s called

Options :

martyr
1. ¢ '

patriot

loyalist

devotee
4. %

Question Number : 75 Question Id : 4771874054 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The children ran helter-skelter all over the house.

The expression ‘helter-skelter’ means

Options :
purposefully and systematically.
1. ®
freely and slowly.
2. %
peacefully and happily.
3. %

hurriedly and 1 confusion.
4. %

: MCQ Option Shuffling : Yes Display

: MCQ Option Shuffling : Yes Display



Question Number : 76 Question Id : 4771874055 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Political would no longer be tolerated.

Choose the appropriate option to complete the sentence.
Options :
descent

1. ®

dissent
2. %

decent
3. ®

detent

Question Number : 77 Question Id : 4771874056 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correctly spelt word.

Options :

accommadation
1. %

acommodation
2. ®

accomodation
3. ®

accommodation

4.



Question Number : 78 Question Id : 4771874057 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Panchatantra is the most popular story book.
Change the sentence into comparative sentence.

Options :

The Panchatantra is more popular than any other story book.
1.v¥

The Panchatantra is most popular than any other story book.
2. %

The Panchatantra is more popular than many other story book.
3. %

The Panchatantra is more popular than some other story book.
4. %

: Yes Display



Question Number : 79 Question Id : 4771874058 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arrange the following in a sequence to make a meaningful sentence.
P: Rip Van Winkle is an
Q: dwarfs playing ninepins.
R: where he comes upon a group of
S: amiable farmer who
T: wanders into the catskill mountains,

Choose the correct option.
Options :
P.T.5.R.Q

PETRQ
2. ¢

P.R.T.S.Q
3. %

P.S.R.T.Q
4, %



Question Number : 80 Question Id : 4771874059 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The test the true cause of death.

Complete the sentence with correct option.

Options :

revealed

announced
2. ®

mvented

mtroduced
4. %

Question Number : 81 Question Id : 4771874060 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He at reception under his own name.

Chooze the correct option to complete the sentence.

Options :
| checked on
check with
2.
checked off
3.

checked in
4. &



Question Number : 82 Question Id : 4771874061 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify correctly punctuated sentence.
Options :
‘Why don't they know who 1s responsible?’ they asked.

1.

‘Why don’t they know who is responsible’ They asked.

2.

‘Why don’t they know?” Who 1s responsible they asked.
3. %

‘Why don't they know who 1s responsible’ they asked ?.
4. %

Question Number : 83 Question Id : 4771874062 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Select the sentence that uses article correctly.

Options :

The cow 12 a useful animals.

1. %

A cow 1s an useful animal.
2. ®

The cow 18 a useful animal.
3.¢

The cow 13 an useful animal.



Question Number : 84 Question Id : 4771874063 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He was my classmate as well as colleague.
The word ‘as well as’ 1z a/an
Options :
preposition.

1. ®

interjection.
2. ®

adverb.

conjunction.
4.9

Question Number : 85 Question Id : 4771874064 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In English, the following one is NOT a Formative tool at Primary level of

Telangana State Board.

Options :

Notebooks
1. %

(Observation
2. ®

Projects
3. ®

Book Review
4.



Question Number : 86 Question Id : 4771874065 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main aim of learning a language 1= to develop
Options :

” communicative competence.
1. #

grammary accuracy.

2. ®

reading ability.
3. %

writing skill.
4, ®

Question Number : 87 Question Id : 4771874066 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the context of Teaching-Learning Materials (TLM ), identify the example for

‘Authentic Materials'.

Options :

Charts
1. ®

Flash Cards
2. %

Work books
3. %

Tourism brochures
4. &



Question Number : 88 Question Id : 4771874067 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This iz known as the Magna Carta of English Education in India.
Options :

Woods Dispatch of 1854
1. v

Lord Macaulay's Minute of 1835
2. %

The Kothari Commission ( 1964-66)
3. %

The Hunter Commission of 1882
4. %

Question Number : 89 Question Id : 4771874068 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

helps to get the general 1dea quickly.

Critical reading

Skimming
2. ¢

Scanning
3. %

Visual reading
4. %



Question Number : 90 Question Id : 4771874069 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the targeted discourse for primary school students ofclass 3 in the Telangana

State Board.

Options :
Profile
1. =
Notice
2. %

News report

3. %

Slogans
4. &
Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mathematics

477187134
4

Online
Mandatory
30

30

30

0

1
477187213
Yes



Question Number : 91 Question Id : 4771874070 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the statements related to integers.
“uﬂga’}oa:;mé} somoboild Eob agrend Sikok.
Aj The product of 2025 negative integers is a negative integer.
2025 goe Eé}tgﬁoa:;@ O8O0 EEs ﬂﬂg:‘f}oa:; 06,
B) When we divide a negative integer by a negative integer, we get a
negative integer as the quotient.
2.8 =es ‘@Dg?ﬁoa:g?fo HoB°E ses ?’.Qfﬂgéoaj_:_ﬂ PRSP geiseo 2.8 oo "@DQ?EOS;J;
Hepod.
Choose the correct answer.
X089 SEPEPRrd) JothEol.
Options :
Statement A 1s true and Statement B 1s falze.
| sy A 5006 2080 argy; B $365°06.

Statement A 1s false and Statement B 1s true.

aRog; A 5085206 06ain ey B H58:58.

2. %

Both the statements A and B are true.
o Cotd argpen A h8din B 50:52.
Both the statements A and B are false.

Cotd amsPren A oBdin B &8sy,
4. %



Question Number : 92 Question Id : 4771874071 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose pair of supplementary angles from the following.

Ao P R R v JU O, - SRR L L St N
Sofs sreid Hospds Fere a8 othBol.

A) 907,90
B) 124°,66°
C) 54,36
D) 927,88

Options :

A, B& Donly
A, B& Dirsd

1. ®
C only
A & Donly
A & D irEah
3. ¢ )

B & D only
B & D srgsd



Question Number : 93 Question Id : 4771874072 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

45 ; :
A cloth of length = metres has to be cut into smaller pieces of length

5 g :
3 metres each, then the number of pieces we get 1s

Options :



Question Number : 94 Question Id : 4771874073 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The lowest marks scored by a student in the class 1= one-third of the highest
marks plus 4. The lowest mark scored by the student 13 35, then the highest
mark scored by the student 1s
BEERBE 0.8 EC]D’-‘;? sFroBd @ Bopen wE-HE e "33_&_:&'5’3 SrES dod 3 4 5058

el ouT”
= o
Hepod. © PP FodS wEe)EEyen 35 Yond, WEHS Irde PoBd TP

l’\.

bl f“.'.
0,07 80)

e

Options :

81
L%

105
2. %
, % 101

93



Question Number : 95 Question Id : 4771874074 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If ‘x" and "y’ are inversely proportional to each other (y;, y; are the values of y
corresponding to the walues xj, x, of x respectively). then choose the correct

relation from the following.

‘A HBED Y en 2 5IEES DENrHarEos® Hob (x Denden X1, X205 wibmore

HOR Y Dendden HHIAT Vi, V2 ) ®ond, Eob EE” ok 288 Somoird doths ok,

Options :
Xy Xz

1 % Vi Yz

1 _»n

Xz ]
2. ®

X _n

¥z Xz
3. %

Xy Xz

Yz Y1

4. ¢



Question Number : 96 Question Id : 4771874075 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sharan bought some books for 71250 and he sold them for ¥1500 whereas
Varun bought some books for 71000 and he sold them for 1250, then choose

the correct statement from the following.

gx

$85 B HeD 11250 o £ B T1500 o wird, $6HE Y Bise

2h

71000 &% 53 80 71250 o o5irgd ovowd, Bod 8 Hod $TS D

Options :
Sharan earns 5% more profit than Varun.

$565 B0l 85 B 5% D erelo Hidob.
1. %

Varun earns 5% more profit than Sharan.

F555 B0l Hoeh B 5% HEH ergo D08,

2. ¢

Both Sharan and Varun earns 25% of profit.
- Feh HobATD Hes BHBS 25% ergfo H:nob.
Sharan earns 10% less profit than Varun.

4 % S5 o8 56 B 10% 88y erefo :



Question Number : 97 Question Id : 4771874076 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the median of the data 49, 3§, 35, 20, 28, 17, 14, 11, 21, 53 1s ‘x’ and the
median of the data obtained by replacing 11 by 31 and 17 by 27 in the data 1s
Vo then Yy — X =

Serodo 49, 38, 35, 20, 28, 17, 14, 11, 21, 53 {T&:-’:?é Mg’y Berodo & 115
3

18, 175 27 & 5009, MR Sevod 508:080 V' @ond, ¥y — X =

Options :

5
1. ¢

Ll



Question Number : 98 Question Id : 4771874077 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements related to triangles.
@ihered Sonodoid Sob arygresh S8k,
A} In a right-angled triangle the two altitudes of a triangle are two of its
sides.
o005 |k'_‘?$_,i.uo'95{ Iy loen 33%@; Cotd gheren TP Cotd oden @&~ on.
B) The point of concurrency of altitudes of a triangle is called the centroid of
the triangle.
@eheso G0 Jie ol Sothda ToE: 'Sco@ii"‘/‘- ) oI ETD.
Choose the correct answer.
K38 SErrard) woHstod.
Options :
Statement A 1s true and Statement B 1s falsze.

aRog; A 5006 2obdin argy; B $65°06.
1. ¢

Statement A is false and Statement B 1s true.

,.,"r., A 580 Sobdin & :'; ‘; B rﬁaé&

Both the statements A and B are true.

Ootd & "L Asbdn B JE

Both the statements A and B are false.

Ootd o7 e A sbcin B -:\,F"Scé‘



Question Number : 99 Question Id : 4771874078 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sindhu, Karthik and Kiran go for a walk every morning. Sindhu goes around
an equilateral triangular park of side S0m. Karthik goes around a rectangular
park with length 80m and breadth 40m and Kiran goes around a square park
of side 60m. If they walk for 3 rounds, then choose the correct statement from
the following for the above data.

&

doth, 5285 Hbdan 586 Ha8% &8dho ar8oh L FFer. Hoth 80 el heso He

S50 em @dhersed arth; e HitD%ob. Sﬂng 30 aua::ti SPES Snoaim 40 Hned
= & r s
&

4
Homobod) Bof S 505 VLT JoiHEad,

Options :
Both Sindhu and Karthik covers 120m of distance in 3 rounds.
Roth £8ain =85 adsr 120 el Sroedy 3 TPois® ¢ T,
1 ® : |
Karthik covers 360m of more distance than Sindhu and Kiran in 3

rounds.

3 BPols® 285, Both 580k 856 © K08 360 Dutath Ny KirBo 8 Beetd.

All the three Sindhu, Karthik and Kiran covers 720m of distance in 3
rounds.

Both, 585 B0 856 Swihd 720 exd roed) 3 Fogs® 78 Deeth.

—a

3.¢

Both Kiran and Karthik covers 480m of distance 1n 3 rounds.

E85¢5 508050 5°65 siitr 480 el Sroed)) 3 Tois® rd Tavis.



Question Number : 100 Question Id : 4771874079 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A polyhedron has 15 edges and 7 faces, then the number of vertices 1t has

s o o Oy i ok £ = . R iy P _H—'ﬁ i 3w & ot i
2.8 oaroaing 8 15 eodhen s0Bd 7 sogren Gaytoona, e 4! o el 0
i i =

Options :

L% 20
, » 10
24
3. %
6
4. %

Question Number : 101 Question Id : 4771874080 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The circumference of a circle (in em ) inseribed in a square of side 35cm 1s

(Use T = 2—?2)

- (o) | T
—_ "R Y 2y R T < L a0y o £ wdh | ow = L T = .
35%0.80. ghesshiore He SRIRHEINS° vodbPodads 58 H88(Do.db.ob”)
c 0 Yo

22 . gt
(:rr = e e &-.a:@'ﬂﬁo:‘aocz)

Options :

110
1. ¢

220
2. %

35
3. %

962.5



Question Number : 102 Question Id : 4771874081 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Hari a fruit seller had some oranges. He sold 26% oranges and left with 777

oranges, then the number of oranges he had at the beginning 1s

R0 @R Do argerd S 577 rBoe Hold Garon. @D 26% TrBos Hotd @S
Eoecd @8 H8 777 TeBos Hotd hHferon, Bond WSl BHG5 Ity 6%y TrBoes Hok

Rog; Jod?

Options :
2900

Question Number : 103 Question Id : 4771874082 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

33 percent of a number 1s 759, then 21 percent of the same number is

-

i, . - e U
2.5 Roped” 33 3o 759 wons, @8

Options :



Question Number : 104 Question Id : 4771874083 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If X 1s the mean of the data X4, X5, ....., X5 . then the mean of the data
Xy Xo Xy :
e T S )
() a i ( # }
_ s . N o Xy X x
X 938 Xy, X3, -...., Xy Borodo GE) SHén eons, ﬁ,f, ______ —= ({1 + 0)

Serodo i?,uj:-éé carén

Options :

x
L.« @

ax

2
2. ®

ax
3 % Zn

x

an
4, ®

Question Number : 105 Question Id : 4771874084 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If AABC = AXZY, then choose the correct relation from the following.
AABC = AXZY wona, Eod P8BS ol 08 RomolrEdy dohEol.
Options :
AB=ZY

1. ®

£ABC = £XYZ
2. %

3 ¥ £BAC = £ZXY

AC=XZ
4. %



Question Number : 106 Question Id : 4771874085 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If 275 X 2% = 1024, then the value of a2 is
278 % 2% = 1024 wond, a’ &g Densd

Options :

| % 512
64
2. %
16
3. %
4 o 256

Question Number : 107 Question Id : 4771874086 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the number from the following which is divisible by both 6 and 9.

a

, a
¢ 2 X 1= T - | T o ¥ Ly i e o Zihn A oy aes
1 Bof 70 Soof 658850 Ded oJé;uJ_Oi‘F ePROSHG noPrad aotnB ol.

Options :

% 197232

) 179028

, x 800544

726360
4. %



Question Number : 108 Question Id : 4771874087 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A newspaper 1s published every day with 24 pages.3125 copies are distributed
in a village every day. then the number of pages are printed in the month of

June’2025 1s

&

t

ale

Qm
g
(=}

S I A

- - T
= b IV E D L e £ i
oonmsaET o, E*?O.J}é ey’ 2025 Bod” Sndodalis nEe rla iy

Options :
21.00.000

22,50,000

19,00,000

Question Number : 109 Question Id : 4771874088 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Subtract the product of 3I(7k 4+ 31 — 2m) from 91(2k — 51 — m)
91(2k — 5]l —m)e o0 S0& SI(7k + 31 — 2m) SLvi Y HH3H08.
Options :
171k — 6012 — Im

1. ®

2
- —171lk — 601° 4+ Im

; % 17k — 6012 + Im

L% 171k + 6012 + Im



Question Number : 110 Question Id : 4771874089 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the group of English letters from the following with only one line of

symmetry.

a .
N T S T S S = P
ooy O 'f:ab; =ToTy] '?—:'émﬁr F-:IGM'GJUP_::\L otDr S '-':."'i.
= : ~

ik
L,
2y

i
B o 2 OB
Sob ord” 2.8 2

Options :

C.KW

HE QW

,x CEKOW

Question Number : 111 Question Id : 4771874090 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
STAR iz a square. Itz diagonals intersect at Q. If OT = (5x + 4)cm and
0A = (3x + 8)cm, then the length of the diagonal (in cm) of STAR is
STAR .8 &80, &2 é’:é‘;s_u ‘O 5% pofioththoton.

OT = (5x + 4)20.8n. $8am 0A = (3x + 8) 0.5, wond, STAR &, 450 v

& m

&h

(P0.8n.ef )

Options :

. 14+/2
14
2. %
282
3. 0%
28



Question Number : 112 Question Id : 4771874091 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If 45 workers can dig a well m 20 days. then the number of days required by

30 workers to dig the same well 1z (assuming the number of working hours per

day is constant)

£r
o
o
(¥,
b
[
ia
e
[
99-{ >
2
23
e

45 Hob Lroen 2.5 sron 20 8’2?@? #1078, ¥d a3 30

o B “___L,z_ R Y By £og _H—".“'
2E Bleren (8% &7 Hote Koy abore &aéons )

.
&k

Options :

Question Number : 113 Question Id : 4771874092 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A cuboidal water tank 1s 2m long. 1m wide and 0.8m deep. then the volume of

the tank (in litres) is

) . . .
o B St &y £ o £ & ol oot
o 28p. &PED, 180, Jken; HbB6H 0.8d. S°H 5OADKH,

160000



Question Number : 114 Question Id : 4771874093 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The greatest four digit number which 1s divizsible by 12, 15 and 35 1s

o

12, 15 586 35 8 JsHore grhoisnt @83 Trend @oBo Sogy

1]

Options :

8920
1. ®
0060
2.
9600
3.
9660

4.9



Question Number : 115 Question Id : 4771874094 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The purpose of learning mathematics 1= to inculcate the rational thought
among the learners. the following value reflects the above feature.

fiesdo F:&;;%aeﬁt‘io O?J::uég_ ﬁ@ﬂl {r0 wrrrtedt ?:Fé;m{;i_"*“zé 545 Dosroboddo,
Sob Densd BB DB oFerd) HEH0D08.

Options :

Cultural value

Aesthetic Value

%‘Joﬁtﬁ; DEnS

Diseiplinary Value

Ean3LeT aendd

3.¢¥

Social Value

e
4 Y r:nc_:""fé ?JE]B{J



Question Number : 116 Question Id : 4771874095 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

From the following, identify the relevant characteristic of the analytic method

that 1s employed for teaching of mathematics

Eob 8 Sof, Hlds S05% endrAod EE o) Efjtgié j-::-éér Slatealolaly Woh=1:- )

rbBotol

Options :

For deriving the formula through simple observations and examples

3

o . o B : : - -
DOE N HBdDden HBC STPFLne PITP @, Thadtio 5°Ho

-]

1. %
Gives reazoning for every step followed while solving the problem.
5050 H6: BTN D BDHBOT HE BB T8 5ED B%0B.

2.
Just substituting the values i the formulae and solving the problem.
W "-55\“\4 A - g a.o

« P @ es” senien) P50 nj:ﬁm oD arboddo.
3.

Direct attacking of problem, where thinking starts from the data to the

conclusion
D50 Jtre oo, 55,8 "85S Serodo ol Snhod H55H

J"

eOodiinadobh

v}



Question Number : 117 Question Id : 4771874096 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the Herbartian steps of Lesson plan, the significance of culminating
activities 1s
SPOm,0008 a8 EerdE S8 Heedo, swhod) s Eerare Ging
Options :
To recap the key points of the lesson that was taught.

4 P . - o - s e ) &
G 000N PBoE° sy wodreD &8 Sofisroditio.

1.¢ h

To test the previous knowledge of the learner.

Tg® Gws)y B Gy eped) H85oto.

2. ®
To teach the content what 1s expected to teach
& FBoTreinHTE” @ DHRADIND FHodEo

3. ®

To motivate the learners towards the topic that 1s going to be taught.

G HodE ch wo¥o gy @gEmed

Ty

L S-St
[ 'G;]G?_J,__{‘.-



Question Number : 118 Question Id : 4771874097 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Following is/are the evidence(s) that the understanding of learner in“decimal

fractions” is applied to new situations

]

-

Food furen’ & egriHhi NmrED rdsd H8hMe b S8onaEchathéotid

a
daas srrrren Sol sd@TEon.
A) Learner converts common fraction into decimal fraction.
OgP5HtD e Haryd Bacod DK S 8 SrH.
B) Gives examples of decimal fractions
Harod dame &riOnen S0 c‘;u
C) Expresses the different measures like length. weight, volume and
currency in decimal form.

SPES, BhyY, HdHbsrso HHddkn :5;; Ho8l DY Foded devod Srhost

D) Compares the relationship between different decimal places
e Barod e $ul; DonoPa) TR0y TR
Choose the appropriate response from the following
Bod sH:als 8 Dok HBS HE 005D JothE ol
Options :
A & Bonly
A & B ir@ad

A Bé& Conly
A B& Cirga

D only
D ol "jm)



Question Number : 119 Question Id : 4771874098 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The textbook of mathematics helps the teacher in the following ways
1688 r¥rygo sarerdints & Sod dprenme H:PdbH &0
A) As the content in the textbooks 1s well organized and structured,
facilitates the teacher in preparing teaching plans.

yilo rayaosee o8t DAcHo ijé,_ni‘ Ab-srodal, é;‘é?mt-éaotiﬂ‘ic Herd, S5

e

perdBeh wd(} dohEos® SarriinGs hegfddo @diod.
B) Saves the time for the teacher in preparation of lesson.
o) bo Behos® &Trrranls Sinoho s 8PHob.
C} Helps the teacher to encourage to do self-study among the students.
) c‘i@_ &° ct Oh egabdo DEHHD D ol I&Woiﬁt‘f{}é &ar rreainds
e Cstiuod).
D) It is a perfect tool for the teachers to engage high achieving students
depending exclusively on the text book
Sy VIS lolFy 513‘-'@3:3 BeEaG 68 & NI Dexdiren arBod s ﬁiﬂ 5 Ddiiye
FoH=D8 e oo 38 28 $585 %vcmo.
Choose the appropriate response from the following

Bodd Bolbs e ol 585 @85,08:5:50 DotHE ol
Options :
A & Donly
A& D Sr@d

1. ®

A B &C 01115-'

/ ot =3
) A, B, &L— & {:-_lf"l‘_ﬁﬂc.:_:

B. C & D only

B, C & D srpsd
3. %

A & C only

A & Csmgad



Question Number : 120 Question Id : 4771874099 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The use of Rubrics as a tool of Evaluation helps In the following way(s)

F

] T'E'.T Oém (‘fﬁﬂﬁ‘ & |:Eg Ay F&.,CL ﬂ@‘ﬁﬁ@ 'ég i;gcl&l ol U':mm o.,wﬁdi:-ét‘bé&c:&.

A)

D)

To know what level the mathematical abilities the students have in the

classroom.

S5K8 KHS TPgthe Hed Jrsnsen & & r::u::@ &3 BendEHee08,
Helps to assign the mathematical t:tsks to the students as per their
abilities.

PR e L N S gt gl g WA SR V. 9 S
50 APsNTR e @ibesorT e Nedoh Honofodd Hdod

(et} [}
e

~
5

L.

stronoiitod” HiFdhHo&ob.

To determine the learner whether he /she has passed or failed in the test.
o F - = = P - .

HBES° Doesd 683 (pass) @ S 2ons Drst QFonoites.

Does not encourage self assessment

u:u 'fu T TNy Iﬁbﬂ- G“Gﬂ{ﬂ

Choose the appropriate response from the following

Bots aiels a8 Dol $B% HBH08HH JohsPol

Options :

1.

A & B only
A & B sr@gah

A, B& Conly
A B& Csrgd

C & D only
C& Dsrgad

Environmental Studies



Section Id : 477187135

Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187214
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 4771874100 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a village. many people were found to have swollen necks. What could be the

main reason behind this?

[ 4 -1 : B o L T T ¥ ol 2 - .
2.8 [rsnod”, arer $0ohs APod ars) & SftSalod. 83 F5E ST 00 aan

(=8

S0, ?

Options :
Deficiency of 10dine

i lan (“':\JJ“
1. ¢

Lack of exercize

- Y,

9 ® QH S500 E } HephTale
Drinking too much milk
281 A aren @iido

3. %

Eating spicy food

S T Y . T
SN0 G0k 8ado &ndo



: MCQ Option Shuffling : Yes Display

Question Number : 122 Question Id : 4771874101 Question Type

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the marine fish among the following:

; :
L | T —
Sob A6 DADE doa N8odod:

Options :
Tuna



Question Number : 123 Question Id : 4771874102 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“Livla” 1s the name of which of the following natural phenomena?

U pmY pnf B A - NP P S VT WS T R SV I
ger” 93h Sob LE” o deres )Rt ?

Options :

Earthquake

ZrSono

Tesunam

ot &
2 ] cldod oD

Cyclone

£ =
L VENEEY)

3.¢¥



Question Number : 124 Question Id : 4771874103 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
From the following plant. which one does NOT have flowers?

£ob 2 of°, o 205 Jren Soti?

Options :
Grass
Hé
1. %8 F

Maize

e
2‘ i c""""':'fr""’ o

8

Chailh

£9
i,
£i

Fern

sl

e



Question Number : 125 Question Id : 4771874104 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ailr exert pressure 1n this direction

A) Upward direction
28, 0%

B) Downward direction
ol BF

C) Sideways

Options :
A & B only
A & Bsrsd

B& C 0111}'

, % B & C Sr@d

A &.‘ C Olll:v

AB&C



Question Number : 126 Question Id : 4771874105 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Creating new natural resources 1= NOT possible, so we should

578 e BdGed p:w, motido —Dﬁ;l o 2%, 57 &g Lodo Ber BAPO:

Options :
Use more fossil fuels for faster development

L e o # . =
SODoH N edls; N 2550 208D Uy Beres HoL
A :

Usze more natural rezpurces because they are renewable

paies HOen 2)NhET B8N Sﬂfcég- FED spboé &HNNPA0TRE)

Avoid using any natural resources at all
Reies HNHed ke aHArAothor Goted
Use natural resources 1n a proper and sustainable way

£ E:i-"" Eﬂ%aua) p‘rﬁé”ﬂ) G_J_.'E]{j{_b' P:J E:I Eu"ﬁ 3P0
4.9 . e



Question Number : 127 Question Id : 4771874106 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s uzed to measure the tremors or vibrations of the Earth during an
earthquake?
grBomo Hohod” g Gng) ok B Sodaren Bokels oo BIEPATE?

Options :

Thermometer

Richter Scale
B g 5 2 &

3.¢¥
Anemometer

e S —
ondol P allEI0
4



Question Number : 128 Question Id : 4771874107 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The protein mainly contained in the fleece of a sheep 1s:

0 &6 Berdorr &ot P ER:

Options :

Collagen

e
ErerEa
s

1. ®

Keratin



Question Number : 129 Question Id : 4771874108 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When cotton fiber is separated from seeds In a process 1s called:

o Dot oy s D R B
268 R0 adare ol B B ;‘-_:ui‘:i'f_lh:;.-v:‘?a.a BE® coe0eR 0!

Options :

Spinning

R U
el ey 00
o o

Ginning
o o~

=
Coe 0N
(=9

2.9

Weaving

o

s
aOD&0

Carding

=elatetal
4.% 7



Question Number : 130 Question Id : 4771874109 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of neck bones in humans compare to that in giraffes 1s:
SrdHes® ot DY dswse Hog; 2rdHes® 50D
Options :
Less than giraffes

- -
BTt P P T o G 4
ol glel So82 &5n0

More than giraffes
. 2005e Sob abnd
2. -

The same as giraffes
-

2orped” 6ot Do Sirdo

3.¢

Twice the number of giraffes

& o S At o W, A
Zoraped” ot woPrs Cold E-Eﬁ

4. %

: Yes Display



Question Number : 131 Question Id : 4771874110 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Peptic ulcer 1s caused due to:

Viral infection

06 aE_
1%
Bacterial infection by Helicobacter pylor:
o ”@g“ :‘-MIE 1@1\5 1.5“%6@? 'T‘“—'_": ':#u::_l ém
2' J =¥ ] = ==}
Lack of water intake
A VR POV L = LYyl
3. ®

Low blood sugar

5ot #%5,0 &5 dotito
4, ®
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Question Number : 132 Question Id : 4771874111 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following blood components with their other names and choose the
correct option:

Eob 88 grrrend o) 380 3 rj,g"‘ 2385 DODOA 2BA & O i) j5°a) nohHEsiok:

Blood Components Other Names
8 grrees 288
A)  Platelets 1) Erythrocytes
2By DBE e
B) Red blood cells 1 ) Leucocytes
(0 5% Beren ajﬂug”_‘iaﬁ
C)  White blood cells i)  Thrombocytes
8o 88 Sepen kﬁsofﬁ_‘i@
Options :
A=iii, B—a, O=i

1. ¢

A-1n,B-mC-1

A-1,B-n.C-m

A-mB-1unC-1



Question Number : 133 Question Id : 4771874112 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify the perennial rivers
80 PBS, T8 Hhod HBokod

Options :

The Krichna and the Godavari

495 SBan Rioesb

1. %
The Thunga bhadra and the Mahanadi
Snofiafit) Sobdin HiFHd

2. ®
The Narmada and the Tapat:

- R5,80 2hbdn 858

The Yamuna and the Sutlez

-

& " . =
C0ei0er® 30040 oals

4.
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Question Number : 134 Question Id : 4771874113 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

On the surface of this, the maximum evaporation and the cloud formation takes

place

Bh0 2086 Hdren ATyEe0 a:tbiddoh

'E?ﬂ;

82 exnbswod, HQ iy

Mgountains

0. ® Eﬁ-ﬁ;@ L))

OCE.‘.‘L]‘JS and seas

LA PO - o e - -
sneFismiTren s0Baln Hsogeen

3.¢

Rivers and Rezervoirs

PDien HHdA serLdiren



Question Number : 135 Question Id : 4771874114 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Towards the close of the summer season. pre-monsoon showers are common
especially in Kerala and Karnataka, which help for the
Ses) SP@0 D.UJF:II.’U Hsndiras, sogrome 56{'“/ Hodain g?@éﬂ& Bfndmred) anoth

&80 eenen By AL o e éﬁ:-si:g gotron, 36 AD8 S ehnthdod
Options :

Undertaking of agricultural activities by the farmers

£ I B 3 # ey
Béen Srdardd seddersred Bdtéo B5d

Destruction of mango fruits

5EhE Hol Dol o AcHTDE

2. %
Early ripening of mangoes
sl Hoth &0 Hodto BU%H
3.¢ '

Destruction of Paddy crop

5

:
" . e

D0 Dot ardSo s
4. %



Question Number : 136 Question Id : 4771874115 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following was credited with the initial introduction of the
Rvotwari system in the Madras Presidency?

i e £ 33 GO T e e 3 LT i .
PR PRGNS 8E°0 sanidn dndit Ead s e & Sob ar88° UNBE (&b ?

2 £
Options :
Lord Cornwallis

= o=
5 5,00

1. %
Thomas Munro

" PR SR
Charles Metcalfe
0% IS

3. %

Lord William Bentick

5 DEcho Botis

E:-

£

4. %



Question Number : 137 Question Id : 4771874116 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Public Distribution System is the most important step taken by the Government

of India towards

5o . # g, # e L, ¥ R L g W
Her Hodhed Hd BB O HEhEo B 5% EHHd, of SnyEhd ot
Options :

ensuring food security to all the people
v meseootdBs erF0 HidEd ?jogaozﬁiﬁc
L.
systematic distribution of food to all the people of the country especially
who are below poverty line

BFo8 D EeeotiBs Sngrorr mﬁ._@ﬁ;éa:é; ErDHN 65008 .ééx:iéoﬁﬂ @5® Hodied

L

ensuring food security only to the people who are in below poverty line

B B OB BIDES &%) Hre SPEH Jxboito
3. % '

supplying of food material to all the people at free of cost

eseotifs sddorr e:Bd émqm& 2OnTe ddbdo



Question Number : 138 Question Id : 4771874117 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The money deposited 1n this account CANNOT be withdrawn from the bank as

and when required by the depositor

& pErdt ash B9 Eenyed Barded %{‘65@;&: erro% Dod aS%oS0o%s e %
Options :

Savings Bank Account

| % Raofy erro5 grae
. ]
Current Account
4005 grae
2. %
Small Savings Account
D&y SRty prae
3‘ % ol

Fixed Account Deposit

ol &;__.Df'ﬁ'g g

-

-I\.n.'

4.



Question Number : 139 Question Id : 4771874118 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
During the first 20 years of the Indian National Congress. the congress was led

by these leaders

-

U8 eradd SPofin 5,68 B0 20 SodEoren, )& erdd ersdd stoin & rabEdo

o
w3 o
oot OTIED

Options :

Democrats

o 2
P8 ersadhartien

G
e

Moderate Nationalists

- o #
Soeard) emdduarihen

3.¢

Gandhians

oGP then



Question Number : 140 Question Id : 4771874119 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following was called as ‘Sahaja Kavi'?

Options :

Nannayva

Eﬁé&@i‘q;

1. # i
Thikkanna
e.é’é;-_é;

2. % C
Pothana
o

3 Ly

Erra Pragada

i a gt
-:m..l\‘f;'l E:'hlié

4. %



Question Number : 141 Question Id : 4771874120 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Khandariya Mahadeva Temple was constructed by this dynasty ruler

#

s - = T . - # i R 9 o i L4
PoTPBAT P08 vodierd, £ tradod drebhen A8 00

Options :
Chalukyas of Badami

a i
PTPan trEiEen

1. ®
Saluva Dynasty rulers

. % RS Tredod Sreden
Chola Dynasty rulers
5°¢ resdod sreben

3. %

Chandela Dynasty rulers

g P g
So0e TPaadod arefen

4.



Question Number : 142 Question Id : 4771874121 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a state of Telangana, the ‘Bill’ becomes an Act. when
BeI0iTEs G“cﬂomﬁ 3 c\,o{?:n{) ot S |*:EE":. 2.8 'ELIE_E' 'éééuo' ™ artheod
Options :

the bill is passed in the State Legislative Assembly only

A P LYy g Tyl sk, L W =
2.8 Send) O°a) FPaedndl edrGoddayid drah

1. ® =

a?n
P15

the bill 1s passed 1n the State Legizslative Assembly and the State

Legislative Council only

: Yes Display

2.5 EJ'?_LE rﬁ% TP, 5“'3:3 o0 snoid esrfodNad EL"-‘-‘@E:J
2. %
the bill 1= passed in the State Legislative Assembly and the State
Legislative Council and after the approval of the State Governor
2.8 Depd TPF) FHEH, 008 TS oD Hbaln ooy K50 BErH0D8 0
3.¢¥

When the bill iz approved by the Governor and the Chief Secretary

2.8 Slend) TPy N0 B EIped 500:86) YardoiSentDd
et o o i 2l s al
4. % ¢ T i
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Question Number : 143 Question Id : 4771874122 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Parliament of India alone i1s empowered to make laws on this subject
& D50HoR w0 FPEDods HFEED Seo TahHe

Options :

Irrigation. Police and Health
Frods, P05 a‘ia‘ﬁ;& $H0Bdn 35 Hden

1. ® 2
Education
Aoy
2. % )
Money and Banking
B0 B eroSoh Hid

a

3.¢¥

Factories or Industries

"- s # o W i i
;ﬂfém_:a 0800 28Fsnen



Question Number : 144 Question Id : 4771874123 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The festival of Moharram is celebrated commemorating
SwarBo Hothil: 625 %ésﬂgorﬁ eatihogy oot
Options :

the battle of Karbala in which the grandson of Prophet Mohammed was

llled
P58 0P8 SoHHER Hodd 5er c‘c’ﬁ:-t;io
1.v¥
the birth of Prophet Mohammed
(22858 S0aPEnh Dens Holid o
2. % E ’
the day on which the holy book *Quran’ 1z written
RS HoBDD ‘WworR’ Erahals Bl
3.

The day in which the heroes of Kanauj won the war

5PE Dihen choGost RODS 8ex
4, % i



Question Number : 145 Question Id : 4771874124 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does each letter in ‘DIGA’ in Graphic organizers represent?

=

# oy oy
ewEbo OAD Ardinoh?

__‘

e P—qt:wh é’”ﬁ ‘DIGA® & 538

-

Options :

Divide, Infer, Generate, Assess

(Q:c-,i."ﬂ_“g vaé"’q 85

Describe, Interpret, Generalize, Apply

= o é = . E o =
&8, 306085, X088, wdD

i by o
2. %
Deduce, Initiate. Generate, Amend
3 % ?d‘f‘fg."?ﬁ;&& B5065, ook

Describe, Infer, Generalize, Attend

Ca mx_ﬁ. “’5 5 mﬂé@ﬁ, @&os
4.% 5



Question Number : 146 Question Id : 4771874125 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a characteristic feature of a ‘Project’?

EoBardE" o‘:"ﬁg Ging; o gm0 PR

Options :
Should be challenging

Haren&® ErthfinHmr totrd

Should enable the students work democratically

rgten poe e 35 h{“:nor’ﬁ $0 B8 Den E810TBM® Gotd
2. %

Should be applhicable in real life
3 % Doz EDE0ST e “ﬁou Do ot
Should be more time consuming and expensive

# - £ N, - % - - -~
06T ;0008 aPtn o8 Jihdird) 8hihabr otrd
4. ¢



Question Number : 147 Question Id : 4771874126 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In assessing a textbook using Hunter's Score Card, out of 1000 points of the
scale, the points allotted to assignments and projects given in the textbook are

- AT Ty - % R — et e — — = = Lo =, oy .-'.3 e
SPU; BNste Nerosrls 6H0PACT sPod) 256 58 &°0 1000 sronoérd®, ard;

D80 & 553068 Jdiresaren 084D @"JE—EE o JcirAoSalS iﬁon:noé.;;-
Options
140
1.
-
250
2. ®
3 % 60
100



Question Number : 148 Question Id : 4771874127 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements relating to environmental studies are
TRUE
DBNTRe B;0hHRod% Sonobod Sob r\,'ES Hod5 st NORG wbH?

A)  Environment is of two types — natural and social
28580 Both Boren — Sires 2B roing
B) Natural and social environment are independent and do not interact
with each other
Seres 208G Frodng HbHdo RrdoEalda) n0din Coliof) 0 BHBLT; «:0Mth
C) Biological environment includes plants and animals
E;:é@f.:: 280650 mofden 223 $658508° erito
Choose the correct answer
$0S SErrard, aods Bahod
Options :
AB&C

A & Bonly
A& Birgd

A& Conly

A& Cirsa
3.¢

B & C only

B & C sri@s
4. %



Question Number : 149 Question Id : 4771874128 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Problem Solving method the step that follows ‘defining problem’
8 558S° SR Wodde’ domgd Bz Pirvo
Options :

Organising information

wh oy oy D T
T i 1] »
NPT Aberoito

Collection of data

HErod Hides

2.¢

Identifving problem

80 MhBoBo

Finding solution

583m 50 EHESE0



Question Number : 150 Question Id : 4771874129 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a map roads on hills and on plane land

P

W o BT 0B oo e S 2RI Al £
2+5 oddProd Bl SEARNY] B Hende BFelgd ‘E:QI;‘;_D oy

Options :

both are shown by straight Lines

both are shown by curved lines

) % Cotir 58 Ope oe draodatia®on
are shown by straight and curved lines respectively
HEHP HEE By HE Bve wrre Srdodataron

3. %

are shown by curved and straight lines respectively

DEHMT HE 208G HOF Oe troe TraodatiEron
4.



